Perimeter, area and volume

Perimeter — the distance around the outside of a shape
Circumference — the distance around the outside of a circle
Area — the amount of enclosed space inside a shape
Surface area — in a 3D solid the total area of all the faces
Volume (capacity) — the amount of space inside a 3D shape
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Area of Circle and Sector Circle Theorems Gradient of Tangent at a Point
COMPOSITE SOLIDS -
L Example 1: The circle with equation x + y2 = 25 passes
Composite solids can be formed by either e theouglithe point G4l

Find the equation of the tangent to the circle
at that point.
U combining two or more shapes. H H s this circle has an equation of the form
(i)  removing one solid from another. H Igh er t Ier on Iyl se Cto rsl ‘ e e 0.

. \ The gradient of the radius. o
\ connecting (0, 0) and (3, 4) is
gt o coelon of i it of et circle theorems and | — UL
6m and height 8m topped by a hemisphere. . ST So the gradient, m, of the tangent at (3, 4) is d
" = = . ) The equation of the tangent has the form Y-V = mx-x)
For both cylinder & hemmisphere d = 650 x = 3. gradient of a tangent | 6 is messured in degrees then
s Atthe point (3, 4), x, = 3and y, = 4
Vol cylinder =nr’h =3.14X3X3X 8
= 226.08 area of circle =71 | area of sector = T x 71’ So substituting these values gives y-4 = %(x. 3
.
Vol h-sphere =%, ar* =2 X 3.14 X3X3X 3 + 3 it VERE pEe
=56.52 If 6 is measured in ratl:lians then A“""°:’r‘l’:"t:':::““‘fnﬁ"";::::;"‘”"““ y = ;}x . §
S o = _ 2
iy Total vol = 226.08 + 56.52 =282/6 =283m* area of sector = Er 6 Key Stage 4 Maths Topics - Algebra @@




